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O Olve the trigonometric equation

C088+sec9=§, 0°<8<360°.

—

@ | Prove the validity of the fﬁg&nomeuﬁc identity

V2+2c20 = a s @ Sktakte a
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@ Prove thax \+ cot?O = A Cosec2O Staxe <
coe 8

@ o 6sec’2x+5tan2x =12, 0<d< 1.

Find the solutions of the above trigonometric
correct to two decimal places.

equation, giving the answers in radians
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@ Solve the trigonometric equation
4—4cos20=cosecd, 0<H< 2z,

giving the answers in terms of 7.

Prove bhrat P+ we@z a 9J¢cz<9 Stkr
Shake oo

WteZ

@ Lse your arswr- 2 Quuathan € 4o

ind, in terms of 7, the solutions of the equation

tanf@+cotd=4, 0<@<2r,

. giving the answers in terms of 7.
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Solve the following trigonometric equation B

2+cos2x 2
==, for 0° 360°,
3+b'lll72.x 5 SR
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Solv i i
e the following trigonometric equation "'

\
S

sin26?=con9, 0<6<180°

| — - e —
02 tanx, 0Sx<2r
{—cos2x ' * .

| Find the solutions of the above trigonometric equation, giving the answers in radians in
terms of x.

©

r COS3XEPCOSJI+1 CoS X.

Prove the validity of the above trigonometric identity by writing cos3x as
cos(2x +x). Stuke p and %

@

thhe trigonometric equation

8cos® x—6cosx+1 =0, 0<x<2m,

giving the answers in terms of 7.

Solve the trigonometric equation

2(1-c0s28)=tan8, 0<H<I180°.

r o sin3x= fsin x-ﬂisinax.

Prove the validity of the above trigonometric identity, by writing sin3x as

sin{2x+x). Skake p and Q

©

cotzx-tanz'x=800t2x, 0<x<180.

—e

Find the solutions of the above trigonometric equation, giving the answers in degrees.
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